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68 e 3 (nusida
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68 U2 4 Cnal Ja

¢420.2 (2 ¢ +13.1 (= ¢-90 (w2 «-2.9(
+15.4 (5¢-35.8 (=

69 U2 13 (sl Ja
(+5)=(2)=(+5)+(+2)=+7
(+2) = (+8 ) = (+2 )+ (-8)=-6
(-3)-(5)=(3)+(F5)=+2

(F11) = (-2) = (+11 ) + (+2) = +13
(-2)-(t5)=(2)+(-5=-7
(-7)=(3)=(¢7)+(+3)=-4

69 1 14 O da

1.75) (-1.25)= (+1.75) + (+1.25)= (+3)

(-12.5) (-3.8)=(-12.5)+(+3.8)=-8.7
(t3)—(-4)=(3)+ (+4) =+7

(-26.01)-(-6.01)=(-26.01)+(+6.01)= -20
(-42) — (42-) = (-42)+ (+42) = 0
0-(-2)= 0+ (+2) =+2

70 0a 19 Gl Ja

BC = (+4) - (-2) = (+4) + (+2) =6

AD = (+3) - (-3) = (+3) + (+3) =6
AC=(+4) - (-3)=(+4) + (+3) =7

AB = (-2) - (-3) = (-2) +(+3) =1




